[ Efficiency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

1.0

Ratio

0.950
107

Efficienq ——

—REOTgiTal _—_RECO

RECO

Fi

FitNewHpTt_RE

FI New@tq‘RE 8
FitNewDett _RECO

~ 0.1

A I S S
1) . . . . .
> 0.08ff1+-rt oo b
> : . . . H

2

$0.07f

o

£ 0.06f

(]
0.05f!
0.04
0.03fft

0.02fft -
0.01t -

.............................................

.......

......

.........................

..................

-20

-10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.05

= : : : :
] e AR .

E
50.04F

£.035F
SO
20.03
@
8.025
(]
0.02
0.015
0.01
0.005

...............................

...............................

.................................

1.0

Ratio

5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


